Picnic Table











�������





��


��������








��








Materials Needed For Construction:





Material�
Size�
Quan.�
Unit�
Notes:�
�
CCA Treated Lumber�
2“ x 6” x 6’�
11�
each�
Select stock as clear and straight as possible.�
�
CCA Treated Lumber�
2“ x 4” x 8’�
2�
each�
Select stock as clear and straight as possible.�
�
CCA Treated Lumber�
2” X 2” x 8’�
3�
each�
Select stock as clear and straight as possible�
�
Hex Head Bolts�
1/4” x 3”�
8�
each�
�
�
Hex Head Bolts�
1/4” x 3-1/2”�
16�
each�
�
�
Flat Washers�
for 1/4” bolts�
40�
each�
�
�
Lock Washers�
for 1/4” bolts�
16�
each�
�
�
Taps�
for 1/4” bolts�
16�
each�
�
�
Self Holding Taps�
for 1/4” bolts�
8�
each�
(see drawing below)�
�
Sheet Rock Screws


(Galvanized)�
2-1/2 inch�
54�
each�
�
�



����


�������


�������


��


�











Information provided by:


Gary Wece


325 Wece Lane


Murphysboro, IL 62966


618-687-3309


gwece@intrnet.net





Note: This information is also available on the internet at the following address:


http://www.geocities.com/gwece/stuff.htm





�
�








����


����


�


�������


�������������������


��








��������


������������������


���


�������


���


�








�





������





�


�





�


�

















���


��





����������


����


�


�





��������������������


�


���


����


�


�


�


�����


�


�


�
CUTTING INSTRUCTIONS  (page 1 of 2)_








���Table Top Planks:





�


�


��





�








Note: Five each 70 inch table top planks required.











���Seat Planks:


�


�


��





�








Note: Four each 70 inch seat planks required.











Seat Supports:


��


��


����





����


��





Note: Two each 59 inch seat supports required. (angle cut ends 1-1/2 inch at bottom.)











Legs:


���


��


��


�











Note: Four each 36 inch pieces of leg stock required.  (These will be angle cut later.)�
CUTTING INSTRUCTIONS  (page 2 of 2)_











Table Top Supports :





�������





��


�





Note: Three each 27 inch table top supports required.











Table Braces :





�����





��


�








Note: Two each 36 inch table braces required.











Seat Brace Members :





�������������





��


�








Note: Six each 11 inch seat brace members required.





�
Picnic Table Assembly Instructions (page 1 of 3)








On a flat floor surface (preferably concrete floor) lay out a vertical centerline about 3 foot long.  Near the bottom of the centerline lay out Base line A perpendicular to the centerline.  Measure up 19 inches and lay out Base line B parallel to Base Line A.  Measure up 29-1/2 inches from Base line A and lay out Base line C.


Lay out two pieces of 36 inch leg stock with the outer edges 9 inches from the centerline on Base line C and 26 inches from the centerline on Base line A.  Mark and cut the leg stock. 


Lay a 27 inch Table top support with the ends at 13-1/2 inches from the centerline on Base line C.  Lay a Seat support with the top ends 29-1/2 inches from the centerline on Base line B.


On the table top support drill 1/4 inch dia. holes where indicated with a (+) mark.  (Temporarily insert ¼ inch bolts into the holes just drilled to hold in position.  On the Seat support, drill 1/4 inch dia. holes where indicated with a (+) mark (drill thru support and legs).  Lay the Seat support aside and redrill the 4 holes in the leg stock with a 5/16 inch bit.  (this will allow insertion of the self-holding taps to be installed later.) Note: The self holding taps are used only on the Seat supports to prevent injuries from protruding bolt ends to anyone sitting at the table.  Self holding taps are not required on the table top supports.





�


���


�����





��


��


�������


���������������


���


�





��


������������


���


����





�











�


����������


����


���





��


��


�











�
Picnic Table Assembly Instructions (page 2 of 3)








Install the 1/4 inch self-holding taps in holes (for the Seat support) on the backside of the legs. Install the 3 “ x 1/4” bolts through the Seat support and the legs using one flat washer at the bolt head.  Screw the bolts into the self-holding taps and tighten. (It may be necessary to drill a countersink hole for the bolt head and washer in order to reach the threads in the self-holding tap if the lumber is swelled.)  Attach Table top support to legs with 3-1/2 inch bolts, washers, and taps.


Repeat the previous steps for assembly of the second leg section unit.


Cut a small angled piece off the end of each 11 inch Seat brace member to match the angle cut on the end of the Seat support.  (This step is optional.  You may choose to leave the members square cut since they are hidden under the seat.)


Mark the completed leg section units so you know which sides will be the “insides” on the completed table. (See Detail “A” below)  On each leg section unit, (on what will be the “inside”) install an 11 inch Seat brace member on the top inside ends of the Seat Support. (Drill two 1x4 inch dia. holes and Install  3-1/2 “ x 1/4” bolts through the Seat support and the Seat brace member using one flat washer at the bolt head, and one flat washer and one lock washer at the thread end.  Install taps and tighten.)











�


���Detail “A”


�������


�������������������


�����


��


���


�


�











With the aid of an assistant, stand the leg section assemblies upright and position 5 foot apart measured from the outside of the Seat supports.  Place the Seat planks on top of the Seat brace members maintaining a 5 inch distance between the outside end of the Seat planks and the Seat supports.  Drill pilot holes from the underneath side of the Seat brace members into the Seat planks and attach using 2-1/2 inch screws from the underneath side of the Seat brace members. (If possible, clamp the Seat planks to the Seat brace members before attaching screws.  Care should be taken to keep the Seat planks perpendicular to the leg assembly.)


Install the remaining two Seat brace members at the underneath center of the Seat planks…one on each side of  the table.


Locate the center of the 27 inch Table top supports and install the center Table top plank member maintaining a 5 inch distance between the outside end of the Table top plank and the end table top supports. .  Drill pilot holes from the underneath side of the outside Table top supports into the Table top plank and attach using 2-1/2 inch screws from the underneath side of the Table top support. (If possible, clamp the Table top plank to the Table top support before attaching screws.)


Install the remaining four Table top planks in the same manner as above.  (Note Do not leave spaces between Table top planks…they will shrink as they dry out.)


Mark center of underneath side of Table top planks and install the third Table top support.


�
Picnic Table Assembly Instructions (page 3 of 3)








This assembly step is perhaps the most difficult.  Mark the center of the center table top support on both sides.  Offsetting to one side of the line, install the table brace from the table top support to the bottom of the seat support. The angle brace(s) (which you were purposely instructed to cut “long”) must be cut to the appropriate angles which can only be determined during the installation.  Repeat the above on the remaining brace offsetting to the other side of the centerline on the opposite end of the table.  This will allow for installation of two 2-1/2 inch screws from opposite sides of the center table top support.  Also, predrill and install two 2-1/2 inch screws at the lower end of each table brace into the Seat support.





�





������














���


��



































��������


����������











��������������


��


����


���������




















Chamfer cut the table top outside edges at all four corners.  A 45 degree cut (one inch back from the corner of each board) is recommended.  Also chamfer cut the outside edges on the seat planks.





Self Holding Tap


(has teeth that hold tap in place)





END & SIDE VIEW DRAWINGS





28”





27”





+





+





+





+





31”





+





+





+





+





29-1/2”





20-1/2”





1-1/2”





19”





End View 





52”





59”





70”





5”





31”





20-1/2”





19”





Side View 





57”





60“





Not Used





70”





2” x 6” x 6’ (cca treated)





Not Used





70”





2” x 6” x 6’ (cca treated)





Not Used





59”





1-1/2”





2” x 6” x 6’ (cca treated)





36”





36”





Not used





2” x 4” x 8’ (cca treated)








Not Used





27”





27”





27”





2” x 2” x 8’ (cca treated)








36”





36”





Not Used





2” x 2” x 8’ (cca treated)








Not Used





11”





11”





11”





11”





11”





11”





2” x 2” x 8’ (cca treated)








13-1/2”





13-1/2”





9”





9”





Base line C





+





+





+





+





Table top support (27”)





Base line B





Seat


Support





+





+





+





+





29-1/2”





19”





Base line A





26”





26”





29-1/2”





29-1/2”





centerline





Seat planks





+





+











2-1/2” screw





Seat brace member





Seat support





Partial top view





Offset angle braces from center table top suppor
